
Bombardier Outlander
Fits all 2003-2005 models – MA11940

330 Outlander 2x4   -  2005
330 Outlander 4x4  -  2004
400 Outlander Max  -  2005

400 Outlander 4x4  - 2003-2005

***All directions referring to left and right are when rider is sitting on the ATV. ***
*** Two bolt winch (Viper/Superwinch) motors should be on the left side ***

-2-BOLT PATTERN WINCHES
For Viper, Cycle Country, Superwinch and other 2-bolt winches:  The winch will 
need to be fastened with the two 5/16” x 1” bolts to the TOP mount plate before 
attaching the bottom mount plate.

-4-BOLT PATTERN WINCHES
For Warn and Ramsey winches:  Bolt to the BOTTOM mount plate using the four 
hole pattern located around the winch cable access point.  Use the two 5/16” x ¾” 
flathead bolts & the two 5/16” x ¾” bolts provided with the winch.  Tighten.  

INSTALLATION INSTRUCTIONS

1) Remove the front bumper guard.
2) Place the bottom winch mount plate on the two brushguard tubes.  Use the 2 U 

bolts to attach the front side of the plate to the tubes.  Do NOT tighten.
3) Place the top winch mount plate with winch attached on top of the bottom mount 

plate.  Use the two 5/16” bolts to attach both plates to the brushguard
4) Secure all hardware

HARDWARE FOR WINCH MOUNT KIT

QTY DESCRIPTION
1 Top Mount Plate
1 Bottom Mount Plate
4 3/8” Nylock Nuts
2 3/8” U-Bolt 1-1/2” x 2-1/2”
4 5/16” Nylock Nuts
4 5/16” x 1” Bolt
2 5/16” x ¾” Flat Head Bolt


